C:# Addition Using Open Number Lines Name:
Solve each problem. Answers

1) 72,154+ 1,222 =

« o ° ° ° e )
2) 40,589 + 32,892 = 3.
4,

S ° ° ° ° o

3) 50,473 + 38,252 =

< @ @ | @ | @ g 7
4) 47,077 + 17,140 = 8.
< @ @ @ @ @ >

5) 49,200 + 17,417 =

< ® @ L ® L *—)>

6) 63,745+ 21,328 =

< ® @ L ® L *—>»

7) 50,948 + 43,879 =

< ® @ L ® L *—)>

8) 39,309 + 17,599 =

< ® @ L ® L *—>
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Addition Using Open Number Lines

Name:

Answer Key

Solve each problem.
1) 72,154+ 1,222 =
72,154 73,154 73,354 73,374 73,376
< 0\_/0\/0\_/0\_/0 >
+1,000 +200 +20 +2
2) 40,589 + 32,892 =

40,589 70,589 72589 73,389 /3,479 73,481
«——e— o6 —— @ o o 0
+30,000 +2,000 +800 +90 +2

3) 50,473 + 38,252 =

50,473 804/3 88473 88,6/3 88,723 88,725
—eo——9o —@ @ — @6 0 >
+30,000 +8,000  +200 +50 +2

4) 47,077 + 17,140 =

47,077 57,077 64,077 64,177 64,217
D S e
+10,000 +7,000 +100 +40

5) 49,200 + 17,417 =

49,209 59,209 66,209 66,609 66,619 66,626
«—e——0o —@0 0o — @0 0 >
+10,000 +7,000 +400 +10 +7

6) 63,745+ 21,328 =

63,745 83,745 84,745 85045 85065 85,073
“——e— @& @ o o 0 )
+20,000 +1,000  +300 +20 +8

7) 50,948 + 43,879 =

50,948 90,948 93,948 94,748 94,818 94,827
—e— @6 —@ o o 0 )
+40,000 +3,000  +800 +70 +9
8) 39,309 + 17,599 =

39,309 49309 56,309 56,809 56,899 56,908
«—e— 0o —@0 06— 0 0 >

+10,000 +7,000 +500 +90 +9

Answers

1. (3,376

2. 13,481

3. 88,725

4 64,217

5. 66,626

6. 85,073

7. 94,827

g. 96,908
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